THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid BC-0240 Ended At Jun 26, 2024 10:00:00 AM CDT CONSTRUCTION/CITY - Bridge Replacement

Company:	Silver Star Construction Company	K&R Builders	Haskell Lemon Group, LLC
Base Bid	\$2,023,302.50	\$2,083,218.619	\$2,126,582.455
TOTAL BID:	\$2,023,302.50	\$2,083,218.619	\$2,126,582.455

Company:	Manhattan Road and Bridge	
Base Bid	\$2,238,895.05	
TOTAL BID:	\$2,238,895.05	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #BC-0240 - Bridge Replacement

Start Date Apr 24, 2024 8:02:07 AM CDT Awarded Date Not Yet Awarded

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 👔		First Offer - \$1,006.00	30 / day	\$30,180.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔		First Offer - \$1,006.00	30 / day	\$30,180.00	Y	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
K&R Builders 👔		First Offer - \$1,006.00	30 / day	\$30,180.00	Υ	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$1,006.00	30 / day	\$30,180.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes: Bi			

BC-024001-02 Base Bid: UNCLASSIFIED EXCAVATION	BC-024001-02 Base Bid: UNCLASSIFIED EXCAVATION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 👔	First Offer - \$10.35	12200 / cubic yard	\$126,270.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$11.40	12200 / cubic yard	\$139,080.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
K&R Builders 📦	First Offer - \$12.21	12200 / cubic yard	\$148,962.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$18.00	12200 / cubic yard	\$219,600.00	Υ	Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

BC-024001-03 Base Bid: STABILIZED SUBGRADE (8")							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$12.00	823 / square yard	\$9,876.00	Υ	Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$12.50	823 / square yard	\$10,287.50		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Manhattan Road and Bridge	First Offe	r - \$15.50 8	823 / square yard	\$12,756.50	Υ
Product Code:		Su	upplier Product Code:		
Agency Notes:		Su	upplier Notes:		
K&R Builders 👔	First Offe	r - \$17.00 8	323 / square yard	\$13,991.00	Y
Product Code:		Su	upplier Product Code:		
Agency Notes:		Su	upplier Notes:		

BC-024001-04 Base Bid: SUPERPAVE TYPE S3 (PG 64	BC-024001-04 Base Bid: SUPERPAVE TYPE S3 (PG 64-22 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge 👔	First Offer - \$165.00	92 / ton	\$15,180.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$195.41	92 / ton	\$17,977.72	Y	Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
K&R Builders	First Offer - \$204.00	92 / ton	\$18,768.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Haskell Lemon Group, LLC	First Offer - \$395.00	92 / ton	\$36,340.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

BC-024001-05 Base Bid: SUPERPAVE TYPE S4 (PG 70-28 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company 👔	First Offer - \$158.65	66 / ton	\$10,470.90		Y			
		Supplier Product Code: Supplier Notes:						
Manhattan Road and Bridge 👔	First Offer - \$210.00	66 / ton	\$13,860.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
K&R Builders	First Offer - \$260.00	66 / ton	\$17,160.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$425.00	66 / ton	\$28,050.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

BC-024001-06 Base Bid: TRAFFIC BOUND SURFACE	BC-024001-06 Base Bid: TRAFFIC BOUND SURFACE COURSE (TBSC)								
Supplier	Unit Price	Qty/Unit	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$54.10	27 / ton	\$1,460.70		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 👔	First Offer - \$75.00	27 / ton	\$2,025.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
K&R Builders	First Offer - \$80.00	27 / ton	\$2,160.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$125.00	27 / ton	\$3,375.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

BC-024001-07 Base Bid: TACK COAT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$3.45	34 / gallon	\$117.30		Y
Product Code: Agency Notes:		de:			
Silver Star Construction Company	First Offer - \$4.00	34 / gallon	\$136.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge 🙀	First Offer - \$6.20	34 / gallon	\$210.80		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
K&R Builders 🙀	First Offer - \$10.00	34 / gallon	\$340.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:	ency Notes: Supplier Notes:				

BC-024001-08 Base Bid: SHEET ALUMINUM SIG	NS				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$104.00	7.1 / square foot	\$738.40		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Manhattan Road and Bridge 👔	First Offer - \$105.00	7.1 / square foot	\$745.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
Silver Star Construction Company 👔	First Offer - \$114.00	7.1 / square foot	\$809.40		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
K&R Builders 🙀	First Offer - \$120.00	7.1 / square foot	\$852.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

BC-024001-09 Base Bid: 2 1/4" SQUARE STEEL SIGN	POST				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$10.40	14 / linear foot	\$145.60		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge 👔	First Offer - \$10.50	14 / linear foot	\$147.00		Υ
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$11.50	14 / linear foot	\$161.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
K&R Builders	First Offer - \$12.00	14 / linear foot	\$168.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

BC-024001-10 Base Bid: TRAFFIC STRIPE (PAINT)(4 INCH WIDE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$1.80	1680 / linear foot	\$3,024.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes: Supplier Notes:								
	First Offer - \$1.85	1680 / linear foot	\$3,108.00		Υ			

Manhattan Road and Bridge 👔				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Silver Star Construction Company	First Offer - \$2.00	1680 / linear foot	\$3,360.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
K&R Builders	First Offer - \$2.10	1680 / linear foot	\$3,528.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

BC-024001-11 Base Bid: TRAFFIC STRIPE (PAINT)	24 INCH WIDE)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 👔	First Offer - \$20.50	36 / linear foot	\$738.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$20.80	36 / linear foot	\$748.80		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$21.00	36 / linear foot	\$756.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
K&R Builders 🙀	First Offer - \$24.00	36 / linear foot	\$864.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

BC-024001-12 Base Bid: TRAFFIC STRIPE (PAINT)(S	YMBOLS)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 🙀	First Offer - \$1,035.00	1 / each	\$1,035.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1,040.00	1 / each	\$1,040.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$1,150.00	1 / each	\$1,150.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
K&R Builders 🙀	First Offer - \$1,200.00	1 / each	\$1,200.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

BC-024001-13 Base Bid: TRAFFIC STRIPE (PAINT)(WORDS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 👔	First Offer - \$520.00	1 / each	\$520.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$520.00	1 / each	\$520.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$600.00	1 / each	\$600.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

K&R Builders 👔	First Offer - \$600.00	1 / each	\$600.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

BC-024001-14 Base Bid: CONSTRUCTION STA	KING (CC	ONSTRUCTION SURVEY)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 🙀		First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
K&R Builders 🙀		First Offer - \$9,000.00	1 / lump sum	\$9,000.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$21,000.00	1 / lump sum	\$21,000.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$30,085.00	1 / lump sum	\$30,085.00		Υ
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

BC-024001-15 Base Bid: AUDIO AND VIDEO RECORDING PRE AND POST CONSTRUCTION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Manhattan Road and Bridge 🙀	First Offer - \$750.00	1 / lump sum	\$750.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$1,011.00	1 / lump sum	\$1,011.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
K&R Builders	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

BC-024001-16 Base Bid: GPS AS-BUILT SURVEY					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 🙀	First Offer - \$2,550.00	1 / lump sum	\$2,550.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Haskell Lemon Group, LLC	First Offer - \$2,912.00	1 / lump sum	\$2,912.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$4,800.00	1 / lump sum	\$4,800.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
K&R Builders	First Offer - \$6,000.00	1 / lump sum	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

BC-024001-17 Base Bid: CONSTRUCTION SIGNING AND TRAFFIC CONTROL						
Supplier Unit Price Qty/Unit Total Price Attch. Docs						

Manhattan Road and Bridge 🙀	First Offer - \$7,250.00	1 / lump sum	\$7,250.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
K&R Builders	First Offer - \$10,000.00	1 / lump sum	\$10,000.00	Y	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$16,830.00	1 / lump sum	\$16,830.00	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$18,000.00	1 / lump sum	\$18,000.00	Y	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

BC-024001-18 Base Bid: MOBILIZATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$87,590.00	1 / lump sum	\$87,590.00		Y
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:			
Haskell Lemon Group, LLC	First Offer - \$106,250.00	1 / lump sum	\$106,250.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge 🙀	First Offer - \$110,000.00	1 / lump sum	\$110,000.00	Y	Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
K&R Builders	First Offer - \$112,500.00	1 / lump sum	\$112,500.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

BC-024001-19 Base Bid: CLEARING AND GRUBBING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Silver Star Construction Company	First Offer - \$18,000.00	1 / lump sum	\$18,000.00		Y					
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:								
K&R Builders	First Offer - \$19,000.00	1 / lump sum	\$19,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$48,115.00	1 / lump sum	\$48,115.00		Υ					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							
Manhattan Road and Bridge 👔	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							

BC-024001-20 Base Bid: REMOVE EXISTING SIGN					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 👔	First Offer - \$75.00	2 / each	\$150.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$104.00	2 / each	\$208.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
	First Offer - \$110.00	2 / each	\$220.00		Y

Silver Star Construction Company 👔					
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
K&R Builders 🙀	First Offer - \$120.00	2 / each	\$240.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

BC-024001-21 Base Bid: P.C. CONCRETE PAVEMENT REMOVAL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge 🙀	First Offer - \$9.00	226 / square yard	\$2,034.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$15.00	226 / square yard	\$3,390.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
K&R Builders 🙀	First Offer - \$26.00	226 / square yard	\$5,876.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$28.40	226 / square yard	\$6,418.40		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-024001-22 Base Bid: ASPHALT PAVEMENT REMOVAL											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Haskell Lemon Group, LLC	First Offer - \$4.15	878 / square yard	\$3,643.70		Υ						
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:										
Manhattan Road and Bridge 🙀	First Offer - \$6.50	878 / square yard	\$5,707.00		Y						
Product Code:	Supplier Product Code:										
Agency Notes:		Supplier Notes:									
Silver Star Construction Company	First Offer - \$8.00	878 / square yard	\$7,024.00		Y						
Product Code:		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
K&R Builders 🙀	First Offer - \$9.10	878 / square yard	\$7,989.80		Y						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									

BC-024001-23 Base Bid: 6" PC CONCRETE DRIVEWAY (H.E.S.)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge 🙀	First Offer - \$72.50	150 / square yard	\$10,875.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$81.00	150 / square yard	\$12,150.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
K&R Builders	First Offer - \$100.00	150 / square yard	\$15,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$132.50	150 / square yard	\$19,875.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-024001-24 Base Bid: RIPRAP TYPE II										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$85.00	1836 / ton	\$156,060.00		Υ					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
K&R Builders	First Offer - \$89.00	1836 / ton	\$163,404.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$94.10	1836 / ton	\$172,767.60		Υ					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Silver Star Construction Company	First Offer - \$105.00	1836 / ton	\$192,780.00		Y					
		Supplier Product Code: Supplier Notes:								

BC-024001-25 Base Bid: GUARDRAIL BRIDGE CONNECTION										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$2,600.00	4 / each	\$10,400.00		Υ					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Manhattan Road and Bridge 👔	First Offer - \$2,650.00	4 / each	\$10,600.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Silver Star Construction Company 👔	First Offer - \$2,850.00	4 / each	\$11,400.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
K&R Builders 🙀	First Offer - \$3,000.00	4 / each	\$12,000.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							

BC-024001-26 Base Bid: BEAM GUARDRAIL W-BEAM SINGLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$20.80	80 / linear foot	\$1,664.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge 👔	First Offer - \$21.50	80 / linear foot	\$1,720.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$23.00	80 / linear foot	\$1,840.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
K&R Builders	First Offer - \$24.00	80 / linear foot	\$1,920.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

BC-024001-27 Base Bid: GUARDRAIL END TREATMENT (GET)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC		First Offer - \$3,328.00	3 / each	\$9,984.00		Υ			
Product Code:		Supplier Product Co	ode:						
		Supplier Notes:							
	П	First Offer - \$3,650.00	3 / each	\$10,950.00		Υ			

Silver Star Construction Company 👔					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Manhattan Road and Bridge 👔	First Offer - \$3,750.00	3 / each	\$11,250.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
K&R Builders	First Offer - \$3,840.00	3 / each	\$11,520.00		Y
		Supplier Product Co Supplier Notes:	ode:		

BC-024001-28 Base Bid: REMOVAL OF GUARDRAIL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$8.00	364 / linear foot	\$2,912.00		Y	
		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$8.05	364 / linear foot	\$2,930.20		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
K&R Builders 🙀	First Offer - \$10.00	364 / linear foot	\$3,640.00		Y	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
Manhattan Road and Bridge 👔	First Offer - \$12.50	364 / linear foot	\$4,550.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			

BC-024001-29 Base Bid: SOLID SLAB SODDING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$4.00	466 / square yard	\$1,864.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge 👔	First Offer - \$10.75	466 / square yard	\$5,009.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
K&R Builders 🙀	First Offer - \$15.00	466 / square yard	\$6,990.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$20.80	466 / square yard	\$9,692.80		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

BC-024001-30 Base Bid: TREE REMOVAL (UP TO 6 INCH CALIPER)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$20.80	15 / each	\$312.00		Y				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge 🙀	First Offer - \$550.00	15 / each	\$8,250.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$570.00	15 / each	\$8,550.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

K&R Builders	First Offer - \$591.00	15 / each	\$8,865.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

BC-024001-31 Base Bid: TREE REMOVAL (OVER 6 IN	ICH TO 12 INCH CALIPER					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$41.60	10 / each	\$416.00		Y	
		Supplier Product Co Supplier Notes:	ode:			
Silver Star Construction Company 👔	First Offer - \$750.00	10 / each	\$7,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Manhattan Road and Bridge 👔	First Offer - \$800.00	10 / each	\$8,000.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
K&R Builders 🙀	First Offer - \$977.50	10 / each	\$9,775.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

BC-024001-32 Base Bid: TREE REMOVAL (OVER 12 I	NCH CALIPER)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$104.00	3 / each	\$312.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Manhattan Road and Bridge 👔	First Offer - \$850.00	3 / each	\$2,550.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$2,100.00	3 / each	\$6,300.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
K&R Builders	First Offer - \$2,425.00	3 / each	\$7,275.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

BC-024001-33 Base Bid: CONCRETE WASHOUT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 🙀	First Offer - \$750.00	1 / each	\$750.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1,064.00	1 / each	\$1,064.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
K&R Builders	First Offer - \$2,375.00	1 / each	\$2,375.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$3,100.00	1 / each	\$3,100.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

BC-024001-34 Base Bid: TEMPORARY SILT FENCE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Silver Star Construction Company	First Offer - \$3.00	361 / linear foot	\$1,083.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Manhattan Road and Bridge 🙀	First Offer - \$4.25	361 / linear foot	\$1,534.25	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
K&R Builders	First Offer - \$7.50	361 / linear foot	\$2,707.50	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
Haskell Lemon Group, LLC	First Offer - \$10.40	361 / linear foot	\$3,754.40	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	

BC-024001-35 Base Bid: SUBSTRUCTURE EXCAVAT	ION COMMON					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
K&R Builders	First Offer - \$17.11	185 / cubic yard	\$3,165.35		Y	
		Supplier Product Code: Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$36.90	185 / cubic yard	\$6,826.50		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Manhattan Road and Bridge 👔	First Offer - \$60.00	185 / cubic yard	\$11,100.00		Y	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$85.00	185 / cubic yard	\$15,725.00		Y	
Product Code:		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				

BC-024001-36 Base Bid: CLSM BACKFILL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$190.00	146 / cubic yard	\$27,740.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Haskell Lemon Group, LLC	First Offer - \$205.50	146 / cubic yard	\$30,003.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge 👔	First Offer - \$260.00	146 / cubic yard	\$37,960.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
K&R Builders 🙀	First Offer - \$278.00	146 / cubic yard	\$40,588.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

BC-024001-37 Base Bid: APPROACH SLAB						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Manhattan Road and Bridge 👔	First Offer - \$275.00	182.2 / square yard	\$50,105.00		Y	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$300.00	182.2 / square yard	\$54,660.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

K&R Builders 🙀	First Offer - \$305.00	182.2 / square yard	\$55,571.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$380.50	182.2 / square yard	\$69,327.10	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

BC-024001-38 Base Bid: SAW-CUT GROOVING						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Haskell Lemon Group, LLC	First Offer - \$5.40	790.2 / square yard	\$4,267.08		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Manhattan Road and Bridge 👔	First Offer - \$5.50	790.2 / square yard	\$4,346.10		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
K&R Builders	First Offer - \$5.72	790.2 / square yard	\$4,519.944		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$6.10	790.2 / square yard	\$4,820.22		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

BC-024001-39 Base Bid: CONCRETE RAIL (TR3)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Manhattan Road and Bridge 🙀	First Offer - \$95.00	501.3 / linear foot	\$47,623.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
K&R Builders	First Offer - \$114.00	501.3 / linear foot	\$57,148.20		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$118.00	501.3 / linear foot	\$59,153.40		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$124.00	501.3 / linear foot	\$62,161.20		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

BC-024001-40 Base Bid: STRUCTURAL STEEL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$2.53	153750 / pounds	\$388,987.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$2.60	153750 / pounds	\$399,750.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
K&R Builders	First Offer - \$2.89	153750 / pounds	\$444,337.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge 🙀	First Offer - \$2.94	153750 / pounds	\$452,025.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

BC-024001-41 Base Bid: WEATHERING STEEL FIXED	BC-024001-41 Base Bid: WEATHERING STEEL FIXED BEARING ASSEMBLY										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
K&R Builders	First Offer - \$1,491.00	8 / each	\$11,928.00		Y						
Product Code:		Supplier Product Co	ode:								
Agency Notes:		Supplier Notes:									
Silver Star Construction Company 👔	First Offer - \$1,855.00	8 / each	\$14,840.00		Υ						
Product Code:		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Haskell Lemon Group, LLC	First Offer - \$1,905.00	8 / each	\$15,240.00		Υ						
Product Code:		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Manhattan Road and Bridge 👔	First Offer - \$2,500.00	8 / each	\$20,000.00		Υ						
Product Code:		Supplier Product Co	ode:								
Agency Notes:		Supplier Notes:									

BC-024001-42 Base Bid: WEATHERING STL EXP.	BEARII	NG ASSEMBLY				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
K&R Builders		First Offer - \$1,491.00	16 / each	\$23,856.00		Υ
			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$1,725.00	16 / each	\$27,600.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC		First Offer - \$1,905.00	16 / each	\$30,480.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Manhattan Road and Bridge 👔		First Offer - \$2,500.00	16 / each	\$40,000.00		Υ
		Supplier Product Co Supplier Notes:	ode:			

BC-024001-43 Base Bid: CLASS AA CONCRETE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$901.00	181.5 / cubic yard	\$163,531.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Manhattan Road and Bridge	First Offer - \$925.00	181.5 / cubic yard	\$167,887.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$1,000.00	181.5 / cubic yard	\$181,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
K&R Builders	First Offer - \$1,170.00	181.5 / cubic yard	\$212,355.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

BC-024001-44 Base Bid: CLASS A CONCRETE									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 👔		First Offer - \$850.00	149.5 / cubic yard	\$127,075.00		Y			
Product Code:			Supplier Product Code:						
		Supplier Notes:							

Silver Star Construction Company	First Offer - \$925.00	149.5 / cubic yard	\$138,287.50	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·
Haskell Lemon Group, LLC	First Offer - \$997.00	149.5 / cubic yard	\$149,051.50	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
K&R Builders	First Offer - \$1,095.00	149.5 / cubic yard	\$163,702.50	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

BC-024001-45 Base Bid: REINFORCING STEEL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
K&R Builders	First Offer - \$1.29	70020 / pounds	\$90,325.80		Y
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:			
Manhattan Road and Bridge 👔	First Offer - \$1.50	70020 / pounds	\$105,030.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$1.50	70020 / pounds	\$105,030.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$1.55	70020 / pounds	\$108,531.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

BC-024001-46 Base Bid: PILES, FURNISHED (HP 12)	(53)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
K&R Builders	First Offer - \$64.00	294 / linear foot	\$18,816.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge 👔	First Offer - \$70.00	294 / linear foot	\$20,580.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$71.00	294 / linear foot	\$20,874.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$80.00	294 / linear foot	\$23,520.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

BC-024001-47 Base Bid: PILES, DRIVEN (HP 12X5	3)						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Manhattan Road and Bridge 👔		First Offer - \$11.00	294 / linear foot	\$3,234.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
K&R Builders 🙀		First Offer - \$16.00	294 / linear foot	\$4,704.00		Y	
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:			
Silver Star Construction Company 👔		First Offer - \$21.00	294 / linear foot	\$6,174.00		Y	
		Supplier Product Code: Supplier Notes:					

Haskell Lemon Group, LLC	First Offer - \$33.50 294 / linear foot	\$9,849.00	Υ
Product Code:	Supplier Product Cod	de:	
Agency Notes:	Supplier Notes:		

BC-024001-48 Base Bid: PILE SPLICE, H-PILE (NON-BIDDABLE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$1.00	1 / each	\$1.00		Y		
		Supplier Product Code: Supplier Notes:					
Manhattan Road and Bridge 👔	First Offer - \$500.00	1 / each	\$500.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$500.00	1 / each	\$500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
K&R Builders 🙀	First Offer - \$500.00	1 / each	\$500.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

BC-024001-49 Base Bid: WATER REPELLENT (VISUALLY INSPECTED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$5.20	612 / square yard	\$3,182.40		Υ		
		Supplier Product Code: Supplier Notes:					
K&R Builders	First Offer - \$5.50	612 / square yard	\$3,366.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$6.00	612 / square yard	\$3,672.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Manhattan Road and Bridge 👔	First Offer - \$6.50	612 / square yard	\$3,978.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

BC-024001-50 Base Bid: DRILLED SHAFTS 18" DIAMETER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$180.00	76 / linear foot	\$13,680.00		Y		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$357.00	76 / linear foot	\$27,132.00		Υ		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
K&R Builders	First Offer - \$367.00	76 / linear foot	\$27,892.00		Y		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
Manhattan Road and Bridge 👔	First Offer - \$650.00	76 / linear foot	\$49,400.00		Y		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					

BC-024001-51 Base Bid: DRILLED SHAFTS 30" DIAMETER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
	First Offer - \$370.00	144 / linear foot	\$53,280.00		Υ		

Silver Star Construction Company 👔					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Haskell Lemon Group, LLC	First Offer - \$464.00	144 / linear foot	\$66,816.00	Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
K&R Builders	First Offer - \$515.00	144 / linear foot	\$74,160.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Manhattan Road and Bridge 🙀	First Offer - \$900.00	144 / linear foot	\$129,600.00	Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	·	

BC-024001-52 Base Bid: DRILLED SHAFTS 48" DIAMETER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$680.00	138 / linear foot	\$93,840.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
K&R Builders	First Offer - \$765.00	138 / linear foot	\$105,570.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$938.50	138 / linear foot	\$129,513.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Manhattan Road and Bridge 👔	First Offer - \$1,200.00	138 / linear foot	\$165,600.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

BC-024001-53 Base Bid: CROSSHOLE SONIC LOGG	ING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$1,700.00	2 / each	\$3,400.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Manhattan Road and Bridge 👔	First Offer - \$1,962.80	2 / each	\$3,925.60		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
K&R Builders	First Offer - \$3,500.00	2 / each	\$7,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Haskell Lemon Group, LLC	First Offer - \$4,232.00	2 / each	\$8,464.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

BC-024001-54 Base Bid: SEALED EXPANSION JOINTS						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Manhattan Road and Bridge 👔	First Offer - \$320.00	39.99 / linear foot	\$12,796.80		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$330.00	39.99 / linear foot	\$13,196.70		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

K&R Builders 🙀	First Offer - \$367.50	39.99 / linear foot	\$14,696.325	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$385.50	39.99 / linear foot	\$15,416.145	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

BC-024001-55 Base Bid: DECK AREA SEALED (FLOODCOATS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$19.10	891.6 / square yard	\$17,029.56		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Manhattan Road and Bridge 👔	First Offer - \$20.00	891.6 / square yard	\$17,832.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company 🙀	First Offer - \$21.00	891.6 / square yard	\$18,723.60		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
K&R Builders 🙀	First Offer - \$22.00	891.6 / square yard	\$19,615.20		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

BC-024001-56 Base Bid: 6" PERFORATED PIPE UNDERDRAIN ROUND							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
K&R Builders	First Offer - \$38.00	78 / linear foot	\$2,964.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Manhattan Road and Bridge 👔	First Offer - \$39.50	78 / linear foot	\$3,081.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$56.00	78 / linear foot	\$4,368.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$57.80	78 / linear foot	\$4,508.40		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

BC-024001-57 Base Bid: 6" NON-PERF. PIPE UNDERDRAIN RND.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge 👔	First Offer - \$27.00	50 / linear foot	\$1,350.00		Y			
		Supplier Product Code: Supplier Notes:						
K&R Builders	First Offer - \$46.75	50 / linear foot	\$2,337.50		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$50.90	50 / linear foot	\$2,545.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$89.00	50 / linear foot	\$4,450.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	е:					

BC-024001-58 Base Bid: REMOVAL OF EXISTING BRIDGE STRUCTURE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$31,986.06	1 / lump sum	\$31,986.06		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
K&R Builders	First Offer - \$37,750.00	1 / lump sum	\$37,750.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$95,969.17	1 / lump sum	\$95,969.17		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge 🙀	First Offer - \$125,000.00	1 / lump sum	\$125,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Supplier Total	s		
f Silver Star C	Construction Company	\$2,023,302.50 (58/58 items)	
Bid Contact	Amber Harris tim@silverstarconst.com Ph 405-793-1725	Address 2401 S Broadway Moore, OK 73160	
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: Authorized on Jun 24, 2024)		
Bid Notes	Bid Bond also att		
Agency Notes	:	Supplier Notes: He Bid Bond also att	ead Attch:
f K&R Builde	rs	\$2,083,218.619 (58/58 items)	
Bid Contact	Travis Lloyd krbuilderstravis@gmail.com Ph 405-535-7036	Address 7701 S. Council Rd. Oklahoma City, OK 73169	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: Authorized on Jun 24, 2024)		
Agency Notes	:	Supplier Notes:	Head Attch
f Haskell Len	non Group, LLC	\$2,126,582.455 (58/58 items)	
Bid Contact	Tammy Robinson bids@haskelllemon.com Ph 405-947-6069	Address PO Box 75608 Oklahoma City, OK 73147	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch
f Manhattan	Road and Bridge	\$2,238,895.05 (58/58 item	s)
Bid Contact	Robert Rains bob.rains@manhattanrb.com Ph 918-878-3332	Address 5601 South 122nd East Avenue Tulsa, OK 74146	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
	🙀 (Status: Authorized on Jun 25, 2024)		

bid #BC-0240 - Bridge Replacement Line Item Tab

City of Oklahoma City and its Trusts

Agency Notes: Supplier Notes: Head
Attch:

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid OCAT-WRWA-2402 Ended At Jun 26, 2024 10:00:00 AM CDT CONSTRUCTION AIP/OCAT - Reconstruct Terminal Apron South Gates - Phase I

Company:	Duit Construction Co., Inc.		
Base Bid	\$7,977,810.00		
TOTAL BID:	\$7,977,810.00		
Tresha Williams	Chad Har	rison	Tim Alvarez
City Clerk	Purchasin	g Agent Au	ditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT-WRWA-2402 - Reconstruct Terminal Apron South Gates - Phase I

Start Date May 24, 2024 7:53:17 AM CDT Awarded Date Not Yet Awarded

OCAT-WRWA-240201-01 Base Bid: Defect Bond								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$100.00	1 / lump sum	\$100.00	Υ	Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Electro item 01-01 Defect Bond.	: nic Bid Bond is uploaded					

OCAT-WRWA-240201-02 Base Bid: Third Party Insurance							
Supplier	Unit Price	ce Qty/Unit Total Price Attch.					
Duit Construction Co., Inc.	First Offer - \$500.00	1 / lump sum	\$500.00	Y	Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Sub Qu	:				

OCAT-WRWA-240201-03 Base Bid: Construction Staking						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

Duit Construction Co., Inc.	First Offer - \$134,000.00	1 / lump sum	\$134,000.00	Υ	Y
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes: Comb	ined LOIs attached to th	ird pay ite	n.

OCAT-WRWA-240201-04 Base Bid: Contractor Quality Control Program (CQCP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$116,000.00	1 / lump sum	\$116,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-05 Base Bid: Inlet Protection							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$1,500.00	8 / each	\$12,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-06 Base Bid: Mobilization							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$797,000.00	1 / lump sum	\$797,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-2402–01-07 Base Bid: Maintenance of Traffic							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$503,624.00	1 / lump sum	\$503,624.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-08 Base Bid: Storm Sewer Structure Demolition							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$400.00	2 / each	\$800.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-09 Base Bid: Sanitary Structure Demolition							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$2,500.00	1 / each	\$2,500.00		Υ		

·	
Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

OCAT-WRWA-240201-10 Base Bid: Water Valve Structure Demolition								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$2,500.00	1 / each	\$2,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT-WRWA-240201-11 Base Bid: Pavement Removal - Type IIA (16 to 17-inch Concrete)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$58.00	20000 / square yard	\$1,160,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-12 Base Bid: Pavement Removal - Type IIB (5 to 9-inch CTB)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$7.00	5000 / square yard	\$35,000.00		Υ		
		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-13 Base Bid: Pavement Removal - Type IIC (0 to 3-inch Nominal Depth Cold Milling of CTB)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$5.00	4000 / square yard	\$20,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT-WRWA-240201-14 Base Bid: Unclassified Excavation								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$28.00	200 / cubic yard	\$5,600.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT-WRWA-240201-15 Base Bid: Muck Excavation								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$38.00	200 / cubic yard	\$7,600.00		Υ			
Product Code:		Supplier Product Code: Supplier Notes:						

OCAT-WRWA-240201-16 Base Bid: Borrow Excavation							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$28.00	200 / cubic yard	\$5,600.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-17 Base Bid: Controlled Low-Strength Material (CLSM)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$250.00	50 / cubic yard	\$12,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-18 Base Bid: 12" Cer	nent Treated Subgrade		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Duit Construction Co., Inc.	First Offer - \$14.00	5000 / square yard	\$70,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	Supplier Notes:				

OCAT-WRWA-240201-19 Base Bid: Crushed Aggregate Base Course										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Duit Construction Co., Inc.	First Offer - \$24.00	3000 / square yard	\$72,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT-WRWA-240201-20 Base Bid: Lean Concrete Base Course										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Duit Construction Co., Inc.	First Offer - \$45.00	5000 / square yard	\$225,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT-WRWA-240201-21 Base Bid: Bituminous Leveling Course										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Duit Construction Co., Inc.	First Offer - \$250.00	700 / ton	\$175,000.00		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

OCAT-WRWA-240201-22 Base Bid: 16.5-inch P.C. Concrete Pavement (Plain)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Duit Construction Co., Inc.	First Offer - \$211.00	16100 / square yard	\$3,397,100.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT-WRWA-240201-23 Base Bid: 16.5-inch P.C. Concrete Pavement (Reinforced)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Duit Construction Co., Inc.	First Offer - \$240.00	4200 / square yard	\$1,008,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT-WRWA-240201-24 Base Bid: 8-inch Concrete Panel Replacement										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Duit Construction Co., Inc.	First Offer - \$200.00	100 / square yard	\$20,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:	Supplier Notes:									

OCAT-WRWA-240201-25 Base Bid: Partial-Depth Repair with Polymer Material (+/- 3" depth)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Duit Construction Co., Inc.	First Offer - \$150.00	100 / square foot	\$15,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT-WRWA-240201-26 Base Bid: Full-Depth PCC Repair (+/- 16.5" depth)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Duit Construction Co., Inc.	First Offer - \$180.00	100 / square foot	\$18,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:	Supplier Notes:									

OCAT-WRWA-240201-27 Base Bid: Emulsified Asphalt Tack Coat										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Duit Construction Co., Inc.	First Offer - \$6.60	500 / gallon	\$3,300.00		Υ					
Product Code:		Supplier Product Code	: :							
Agency Notes:		Supplier Notes:								

OCAT-WRWA-240201-28 Base Bid: Resealing Existing Concrete Joints										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Duit Construction Co., Inc.	First Offer - \$7.00	6100 / linear foot	\$42,700.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT-WRWA-240201-29 Base Bid: Concrete Crack Sealing										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.		First Offer - \$6.00	100 / linear foot	\$600.00		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							

OCAT-WRWA-240201-30 Base Bid: Structural Portland Cement Concrete							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$300.00	20 / cubic yard	\$6,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-31 Base Bid: Reinforcing Steel								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$1.60	880 / pound	\$1,408.00		Υ			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

OCAT-WRWA-240201-32 Base Bid: Temporary Pavement Marking							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$0.65	17000 / square foot	\$11,050.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-33 Base Bid: Permanent Pavement Marking							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$0.70	17000 / square foot	\$11,900.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-34 Base Bid: Permanent Pavement Marking Removal							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$0.90	17000 / square foot	\$15,300.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-35 Base Bid: 24-Inch RCP Class IV							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$140.00	32 / linear foot	\$4,480.00		Υ		

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

OCAT-WRWA-240201-36 Base Bid: Pipe Bedding Material							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$177.00	24 / cubic yard	\$4,248.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT-WRWA-240201-37 Base Bid: Aircraft Rated Frame and Grate								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$8,200.00	2 / each	\$16,400.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT-WRWA-240201-38 Base Bid: Aircraft Rated Structure - Sanitary Sewer								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$950.00	1 / each	\$950.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT-WRWA-240201-39 Base Bid: Aircraft Rated Structure - Water Valve								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$950.00	1 / each	\$950.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT-WRWA-240201-40 Base Bid: Aircraft Rated Sanitary Sewer Cleanout								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$5,100.00	1 / each	\$5,100.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT-WRWA-240201-41 Base Bid: Aircraft Rated Structure - Manhole Frame and Lid								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$16,500.00	2 / each	\$33,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCAT-WRWA-240201-42 Base Bid: Electrical Items							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Supplier Totals

f Duit Construction Co., Inc. \$7,977,810.00 (42/42 items)

Bid Contact Will Harkness Address EDMOND, OK 73034

Jlee@duitconstruction.com Ph 405-340-6026 Fax 405-348-7627

the fraction				
OKC PRE-QUALIFIED CONTRACTORS				
🧃 (Status: A bond with the supplied contract id was not found)				
otes Electronic Bid Bond is uploaded as attachment to pay item 01-01 Defect Bond. Sub Quote List attached to second pay item. Combined LOIs attached to third pay item.				
Electronic Bid Bond is uploaded as attachment to pay item 01-01 Defect Bond. Sub Quote List attached to second pay item. Combined LOIs attached to third pay	Head Attch:			
	OKC PRE-QUALIFIED CONTRACTORS (Status: A bond with the supplied contract id was not found) Electronic Bid Bond is uploaded as attachment to pay item 01-01 Defect Bond. Sub Quote List attached to second pay item. Combined LOIs attached to third pay item. Supplier Notes: Electronic Bid Bond is uploaded as attachment to pay item 01-01 Defect Bond. Sub Quote List attached to second pay			

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid OCAT WRWA 2436 Ended At Jun 26, 2024 10:00:00 AM CDT CONSTRUCTION AIP/OCAT - RECONSTRUCT RUNWAY 17R-35L - NORTH END

Company:	Duit Construction	n Co., Inc.	
Base Bid	\$6,466,456.06		
TOTAL BID:	\$6,466,456.06		
<u>Tresha Willia</u> City Clerk	ms	Chad Harrison Purchasing Agent	Tim Alvarez Auditor
Potentia	al Bid Defects Noted:		
#1	Anti-collusion affidavit no	t properly notarized	
#2	Bid Bond missing		
#3	Bid Bond incorrect award	ing agency	
#4	Bid Bond insufficient amo	unt	

Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

#5

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT WRWA 2436 - RECONSTRUCT RUNWAY 17R-35L - NORTH END

Start Date May 24, 2024 7:53:17 AM CDT Awarded Date Not Yet Awarded

OCAT WRWA 243601-01 Base Bid: Defect B	Sond				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Duit Construction Co., Inc.	First Offer - \$100.00	1 / lump sum	\$100.00	Υ	Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes: Bid bo	nd uploaded as an attac	hment to th	e first pay
		item.			

OCAT WRWA 243601-02 Base Bid: Third Pa	OCAT WRWA 243601-02 Base Bid: Third Party Insurance							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$500.00	1 / lump sum	\$500.00	Υ	Y			
Product Code:		Supplier Product Code	e:					
Agency Notes: Supplier Notes: Sub Quote list attached to second pay ite			ond pay item	٦.				

OCAT WRWA 2436–01-03 Base Bid: Construction Staking								
Unit Price	Qty/Unit	Total Price	Attch.	Docs				
First Offer - \$169,700.00	1 / lump sum	\$169,700.00	Υ	Υ				
			d to third bi	d item.				
	Unit Price First Offer - \$169,700.00	Unit Price Qty/Unit First Offer - \$169,700.00 1 / lump sum Supplier Product Code	Unit Price Qty/Unit Total Price First Offer - \$169,700.00 1 / lump sum \$169,700.00 Supplier Product Code:	Unit Price Qty/Unit Total Price Attch. First Offer - \$169,700.00 1 / lump sum \$169,700.00 Y				

OCAT WRWA 243601-04 Base Bid: Contractor Quality Control Program (CQCP)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Duit Construction Co., Inc.	First Offer - \$155,000.00	1 / lump sum	\$155,000.00		Υ	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				

OCAT WRWA 243601-05 Base Bid: Inlet Protection							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$2,000.00	10 / each	\$20,000.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

OCAT WRWA 243601-06 Base Bid: Mobilization							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$640,000.00	1 / lump sum	\$640,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

OCAT WRWA 243601-07 Base Bid: Maintenance of Traffic							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$217,000.00	1 / lump sum	\$217,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 243601-08 Base Bid: Underdrain Removal							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$12.00	800 / linear feet	\$9,600.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 243601-09 Base Bid: Underdrain Cleanout Removal							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$750.00	12 / each	\$9,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 243601-10 Base Bid: Additional Fee for Asbestos Underdrain Disposal									
Supplier	Unit Price	Unit Price Qty/Unit Total							
Duit Construction Co., Inc.	First Offer - \$16,000.00	1 / lump sum	\$16,000.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 2436–01-11 Base Bid: Pavement Removal - Type IIA (16.5-inch Concrete)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$15.00	17500 / square yards	\$262,500.00		Υ			
Product Code:		Supplier Product Code:						
		Supplier Notes:						

OCAT WRWA 243601-12 Base Bid: Pavement Removal - Type IIB (6-inch Concrete)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$7.00	14600 / square yards	\$102,200.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-13 Base Bid: Pavement Removal - Type IA (12-inch Asphalt)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$9.00	1200 / square yards	\$10,800.00		Y				
Product Code:		Supplier Product Code:							

Agency Notes: Supplier Notes:

OCAT WRWA 243601-14 Base Bid: Pavement Removal - Type IB (4 to 8-inch Asphalt)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$7.00	4400 / square yards	\$30,800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-15 Base Bid: Pavement Removal - Type IB (8 to 16-inch Asphalt)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$4.50	13200 / square yards	\$59,400.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-16 Base Bid: Unclassified Excavation									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$20.00	1900 / cubic yards	\$38,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-17 Base Bid: Muck Excavation									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$19.00	200 / cubic yards	\$3,800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-18 Base Bid: Borrow Excavation									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$12.00	200 / cubic yards	\$2,400.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-19 Base Bid: Controlled Low-Strength Material								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$230.00	100 / cubic yards	\$23,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-20 Base Bid: 12" Cement Treated Subgrade									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$12.00	18900 / square yards	\$226,800.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-21 Base Bid: Crushed Aggregate Base Course									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$29.00	3200 / square yards	\$92,800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-22 Base Bid: 6-inch Cement Treated Base Course							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
	 						

Duit Construction Co., Inc.	First Offer - \$40.00	18000 / square yards	\$720,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCAT WRWA 243601-23 Base Bid: Bituminous Surface Course									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$190.00	1000 / ton	\$190,000.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-24 Base Bid: Bituminous Leveling Course									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$250.00	500 / ton	\$125,000.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-25 Base Bid: 17-inch P.C. Concrete Pavement (Plain)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$153.00	17100 / square yards	\$2,616,300.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-26 Base Bid: 16.5-inch P.C. Concrete Pavement (Reinforced)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$200.00	500 / square yards	\$100,000.00		Υ				
Product Code:		Supplier Product Code:							
		Supplier Notes:							

OCAT WRWA 243601-27 Base Bid: 16.5-inch Slab Replacement for Taxiway A-1 (Reinforced)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$250.00	300 / square yards	\$75,000.00		Y				
Product Code:		Supplier Product Code:							
		Supplier Notes:							

OCAT WRWA 243601-28 Base Bid: Partial Depth Repair									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$220.00	20 / square feet	\$4,400.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-29 Base Bid: Emulsiphied Asphalt Tack Coat									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$7.00	200 / gallon	\$1,400.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-30 Base Bid: Resealing Existing Concrete Joints									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$7.00	9500 / linear feet	\$66,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-31 Base Bid: Structural Portland Cement Concrete									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$425.00	20 / cubic yards	\$8,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-32 Base Bid: Temporary Pavement Marking									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$0.65	1000 / square feet	\$650.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-33 Base Bid: Reflectorized Pavement Marking							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$0.70	23739.1 / square feet	\$16,617.37		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 243601-34 Base Bid: Non-Reflectorized Pavement Marking								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$0.64	5525 / square feet	\$3,536.00		Υ			
Product Code:		Supplier Product Code:						
		Supplier Notes:						

OCAT WRWA 243601-35 Base Bid: Permanent Pavement Marking Removal								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$0.90	29264.1 / square feet	\$26,337.69		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-36 Base Bid: Saw-Cut Grooves							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$2.30	14400 / square yards	\$33,120.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 243601-37 Base Bid: 6-Inch Perforated Underdrain								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$20.00	1700 / linear feet	\$34,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-38 Base Bid: 8-Inch Non-Perforated Underdrain							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$34.00	370 / linear feet	\$12,580.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 243601-39 Base Bid: Underdrain Cleanout							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$500.00	14 / each	\$7,000.00		Y		
Product Code:		Supplier Product Code	e:				

Agency Notes:	Supplier Notes:

OCAT WRWA 243601-40 Base Bid: Underdrain Cover Material							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$135.00	462 / cubic yard	\$62,370.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 243601-41 Base Bid: Filter Fabric								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$3.00	2909 / square yard	\$8,727.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-42 Base Bid: Topsoiling							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$20.00	50 / cubic yard	\$1,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 243601-43 Base Bid: Sodding							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Duit Construction Co., Inc.	First Offer - \$11.00	1225 / square yard	\$13,475.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCAT WRWA 243601-44 Base Bid: Electrical Bonding and Mobilization									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$12,300.00	1 / lump sum	\$12,300.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-45 Base Bid: Remove existing #8 L-824 from existing raceway.									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$1.10	2500 / linear feet	\$2,750.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-46 Base Bid: Cable, L-824C, #8 AWG, pulled into conduit.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$4.30	2250 / linear feet	\$9,675.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-47 Base Bid: Cable, L-824C, #8 AWG, temporary connections.									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$5.30	1200 / linear feet	\$6,360.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 2436–01-48 Base Bid: 2" Schedule 40 PVC duct, concrete encased under pavement.							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

Duit Construction Co., Inc.	First Offer - \$26.00	1000 / linear feet	\$26,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCAT WRWA 243601-49 Base Bid: 2" Schedule 40 PVC duct, direct buried.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$14.00	250 / linear feet	\$3,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-50 Base Bid: Excavate, expose, and connect to existing 2" PVC duct.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$210.00	2 / each	\$420.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-51 Base Bid: Remove and dispose of L-867 pull box including all associated concrete and mater								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$260.00	5 / each	\$1,300.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-52 Base Bid: L-868 stainless steel pull box including all associated covers, gaskets, grommet								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$4,500.00	3 / each	\$13,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-53 Base Bid: Brass duct marker.									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$230.00	6 / each	\$1,380.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-54 Base Bid: Remove and dispose of L-868 base housing during pavement demolition.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$21.00	20 / each	\$420.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 2436–01-55 Base Bid: L-868 stainless steel base housing, size B, 24" deep, with grounding, concrete,									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Duit Construction Co., Inc.	First Offer - \$5,300.00	20 / each	\$106,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 243601-56 Base Bid: Remove and dispose of L-867 base housing during pavement demolition.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$21.00	8 / each	\$168.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-57 Base Bid: L-867 stainless steel base housing, size B, 24" deep, with grounding, concrete,								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$3,900.00	8 / each	\$31,200.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-58 Base Bid: Remove and store elevated runway edge light and accessories; install plywood cov								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$130.00	6 / each	\$780.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-59 Base Bid: Reinstall stored elevated runway edge light and accessories, with new gaskets.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$850.00	6 / each	\$5,100.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-60 Base Bid: Remove and store flush runway edge light and accessories; install plywood cover.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$130.00	4 / each	\$520.00		Υ			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-61 Base Bid: Reinstall stored flush runway edge light and accessories, with new gaskets.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$2,700.00	4 / each	\$10,800.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-62 Base Bid: Remove and store elevated runway threshold light and accessories.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$130.00	8 / each	\$1,040.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-63 Base Bid: Reinstall stored elevated runway threshold light and accessories, with new gaske								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$850.00	8 / each	\$6,800.00		Υ			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-64 Base Bid: Remove and store elevated taxiway edge light and accessories; install plywood co								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$130.00	9 / each	\$1,170.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-65 Base Bid: Reinstall stored elevated taxiway edge light and accessories, with new gaskets.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$850.00	8 / each	\$6,800.00		Υ			
Product Code:		Supplier Product Code	e:					

Agency Notes: Supplier Notes:

OCAT WRWA 243601-66 Base Bid: New gasket on existing L-868 base housing.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$180.00	4 / each	\$720.00		Υ			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-67 Base Bid: New gasket on existing L-867 base housing.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$180.00	4 / each	\$720.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 243601-68 Base Bid: Lockout/tagout procedures								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Duit Construction Co., Inc.	First Offer - \$1,120.00	1 / lump sum	\$1,120.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

Supplier Totals

f Duit Constru	uction Co., Inc.	\$6,466,456.06 (68/68 iter	ns)
Bid Contact	Will Harkness Jlee@duitconstruction.com Ph 405-340-6026 Fax 405-348-7627	Address EDMOND, OK 73034	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Bid Notes	Bid bond uploaded as an attachment to the first pay item. item. DBE Letter of Intents attached to third bid item.	Sub Quote list attached to second pay	
Agency Notes:		Supplier Notes: Bid bond uploaded as an attachment to first pay item. Sub Quote list attached to second pay item. DBE Letter of Intents attached to third bid item.	Head the Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

City Clerk

Bid Committee Bid Tab

Bid OCWUT TW-0001-R/TS-0001-R Ended At Jun 26, 2024 10:00:00 AM CDT CONSTRUCTION/OCWUT - Tinker Operations Building, Tinker Air Force Base, Oklahoma 73145

Company:	Rudy Construction Co.	Wynn Construction Co., Inc	
Base Bid	\$7,059,109.50	\$7,781,613.00	
TOTAL BID:	\$7,059,109.50	\$7,781,613.00	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT TW-0001-R/TS-0001-R - Tinker Operations Building, Tinker Air Force Base, Oklahoma 73145

Start Date Jun 5, 2024 7:33:40 AM CDT Awarded Date Not Yet Awarded

OCWUT TW-0001-R/TS-0001-R-01-01 Base Bid: Ops Maintenance Building								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$4,395,000.00	1 / lump sum	\$4,395,000.00		Υ			
Product Code: TW-0001/ TS-0001	Supplier Product Code:							
Agency Notes:	Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$4,755,000.00	1 / lump sum	\$4,755,000.00	Υ	Υ			
Product Code: TW-0001/ TS-0001		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT TW-0001-R/TS-0001-R01-02 Base Bid: Furniture, Furnishings and Equipment (FF&E)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Υ		
Product Code: TW-0001/TS-0001	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$185,000.00	1 / lump sum	\$185,000.00		Y		
Product Code: TW-0001/ TS-0001		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT TW-0001-R/TS-0001-R01-03 Base Bid: Clearing and Grubbing							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Wynn Construction Co., Inc	First Offer - \$3,000.00	3.41 / acre	\$10,230.00		Υ		
Product Code: TW-0001/ TS-0001	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$12,000.00	3.41 / acre	\$40,920.00		Υ		
Product Code: TW-0001/TS-0001		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT TW-0001-R/TS-0001-R01-04 Base Bid: Erosion Control Overall System							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ		
Product Code: TW-0001/ TS-0001	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$77,000.00	1 / lump sum	\$77,000.00		Υ		
Product Code: TW-0001/ TS-0001		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT TW-0001-R/TS-0001-R01-05 Base Bid: Rip-Rap 12"							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$150.00	111 / cubic yards	\$16,650.00		Υ		
Product Code: TW-0001/TS-0001	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$360.00	111 / cubic yards	\$39,960.00		Υ		
Product Code: TW-0001/ TS-0001		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT TW-0001-R/TS-0001-R-01-06 Base Bid: Topsoil Stockpiling and Reuse							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$15.00	545 / cubic yards	\$8,175.00		Υ		
Product Code: TW-0001/ TS-0001	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$30.00	545 / cubic yards	\$16,350.00		Υ		
Product Code: TW-0001/ TS-0001		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT TW-0001-R/TS-0001-R01-07 Base Bid: Final/Fine Grading							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$3.00	2717 / square yard	\$8,151.00		Υ		
Product Code: TW-0001/ TS-0001	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$6.00	2717 / square yard	\$16,302.00		Y		
Product Code: TW-0001/ TS-0001		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT TW-0001-R/TS-0001-R01-08 Base Bid: Subgrade Preparation & Compaction							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Wynn Construction Co., Inc	First Offer - \$3.00	7182 / square yard	\$21,546.00		Υ		
Product Code: TW-0001/ TS-0001		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$3.00	7182 / square yard	\$21,546.00		Υ		
Product Code: TW-0001/ TS-0001		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT TW-0001-R/TS-0001-R01-09 Base Bid: Select Fill Subgrade Import							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$35.00	8300 / cubic yards	\$290,500.00		Y		
Product Code: TW-0001/ TS-0001		Supplier Product Code:					
		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$36.00	8300 / cubic yards	\$298,800.00		Y		
Product Code: TW-0001/ TS-0001		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT TW-0001-R/TS-0001-R01-10 Base Bid: Removal of Wooden Split-Rail Fence									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Wynn Construction Co., Inc	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Y				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-11 Base Bid: Removal of 24" Corrugated Metal Pipe									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$20.00	25 / linear foot	\$500.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$25.00	25 / linear foot	\$625.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-12 Base Bid: Removal of 700' L. X 14' W. X 6" THK. Gravel Road									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$30.00	182 / cubic yards	\$5,460.00		Y				
Product Code: TW-0001/ TS-0001	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$48.00	182 / cubic yards	\$8,736.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-13 Base Bid: Remove and Replace 6' Chainlink Security Fencs									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Wynn Construction Co., Inc	First Offer - \$60.00	50 / linear foot	\$3,000.00		Υ				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$100.00	50 / linear foot	\$5,000.00		Y				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-14 Base Bid: 6" Compacted Aggregate Base									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$18.00	7172 / square yard	\$129,096.00		Υ				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$21.00	7172 / square yard	\$150,612.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-15 Base Bid: 6" P.C. Concrete Paving (incl dowels and no rebar)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Wynn Construction Co., Inc	First Offer - \$78.00	1870 / square yard	\$145,860.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$85.00	1870 / square yard	\$158,950.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-16 Base Bid: 6" P.C. Concrete Paving (incl dowels and rebar)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Wynn Construction Co., Inc	First Offer - \$100.00	4182 / square yard	\$418,200.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$100.00	4182 / square yard	\$418,200.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-17 Base Bid: 6" Barrier Curb and Gutter									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Wynn Construction Co., Inc	First Offer - \$33.00	2510 / linear foot	\$82,830.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$40.00	2510 / linear foot	\$100,400.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							

Agency Notes: Supplier Notes:

OCWUT TW-0001-R/TS-0001-R01-18 Base Bid: 6" Straight Curb									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$30.00	342 / linear foot	\$10,260.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$45.00	342 / linear foot	\$15,390.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-19 Base Bid: 4 ft Wide Sidewalk									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Wynn Construction Co., Inc	First Offer - \$90.00	471 / square foot	\$42,390.00		Y				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$95.00	471 / square foot	\$44,745.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-20 Base Bid: Concrete Retaining Wall w/ Rebar									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,200.00	170 / cubic yards	\$204,000.00		Υ				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$1,440.00	170 / cubic yards	\$244,800.00		Υ				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-21 Base Bid: Double Grate Curbed Inlet									
Supplier	Unit Price	Unit Price Qty/Unit Total Price Attch. [
Rudy Construction Co.	First Offer - \$7,500.00	1 / each	\$7,500.00		Y				
Product Code: TW-0001/ TS-0001	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$17,500.00	1 / each	\$17,500.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-22 Base Bid: Double Grate Drop Inlet									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$8,000.00	1 / each	\$8,000.00		Υ				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$18,000.00	1 / each	\$18,000.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-23 Base Bid: Elliptical Concrete Pipe									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$250.00	108 / linear foot	\$27,000.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$330.00	108 / linear foot	\$35,640.00		Y				

 Product Code:
 TW-0001/ TS-0001

 Agency Notes:
 Supplier Product Code:

 Supplier Notes:
 Supplier Notes:

OCWUT TW-0001-R/TS-0001-R01-24 Base Bid: Install Wooden Rail Fence (Labor Only)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$10.00	400 / linear foot	\$4,000.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$24.00	400 / linear foot	\$9,600.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-25 Base Bid: Monitor Well Relocation & Adjustment									
Supplier	Unit Price	Unit Price Qty/Unit Total Price Attch.							
Wynn Construction Co., Inc	First Offer - \$5,500.00	2 / each	\$11,000.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$10,000.00	2 / each	\$20,000.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-26 Base Bid: Light Pole Foundations									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,500.00	11 / each	\$16,500.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$3,000.00	11 / each	\$33,000.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-27 Base Bid: Interlocking Concrete Wall Blocks									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Wynn Construction Co., Inc	First Offer - \$200.00	68 / each	\$13,600.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$200.00	68 / each	\$13,600.00		Y				
Product Code: TW-0001/TS-0001		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-28 Base Bid: Parking Striping									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$4.50	1254 / linear foot	\$5,643.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$5.00	1254 / linear foot	\$6,270.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-29 Base Bid: Storm Outlet Structure w/Rebar (90 Degree Wingwalls)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ			
Product Code: TW-0001/TS-0001		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

Wynn Construction Co., Inc	First Offer - \$55,000.00	1 / lump sum	\$55,000.00		Y
Product Code: TW-0001/TS-0001		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT TW-0001-R/TS-0001-R01-30 Base Bid: Detention Pond Outfall Structure w/ Rebar									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ				
Product Code: TW-0001/ TS-0001	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$41,000.00	1 / lump sum	\$41,000.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-31 Base Bid: 14 ft Wide Double Swing Center Gate									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc							
Rudy Construction Co.	First Offer - \$4,000.00	1 / each	\$4,000.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$4,200.00	1 / each	\$4,200.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-32 Base Bid: 4 ft Wide Pedestrian Gate w/ Elec. Keypad									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doo							
Wynn Construction Co., Inc	First Offer - \$6,000.00	1 / each	\$6,000.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$13,500.00	1 / each	\$13,500.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R-01-33 Base Bid: Security Perimeter Fence (6ft Chain-link w/ 3 strand bw)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$45.00	1080 / linear foot	\$48,600.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$48.00	1080 / linear foot	\$51,840.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R-01-34 Base Bid: Security Temporary Fence (6ft Chain-link w/ 3 strand bw)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$18.00	1830 / linear foot	\$32,940.00		Y			
Product Code: TW-0001/TS-0001		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$48.00	1830 / linear foot	\$87,840.00		Y			
Product Code: TW-0001/ TS-0001		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT TW-0001-R/TS-0001-R01-35 Base Bid: 30 ft Wide Automatic Gates w Elec. Motor & Sensor Loop							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Wynn Construction Co., Inc	First Offer - \$30,000.00	2 / each	\$60,000.00		Y		
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:				

Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$31,500.00	2 / each	\$63,000.00	Y
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

OCWUT TW-0001-R/TS-0001-R01-36 Base Bid: Signage (Misc.)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$12,500.00	1 / lump sum	\$12,500.00		Y				
Product Code: TW-0001/TS-0002		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$18,000.00	1 / lump sum	\$18,000.00		Y				
Product Code: TW-0001/ TS-0002		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-37 Base Bid: 2" X 4"Tapping Tee or Saddle (Gas)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$2,750.00	1 / each	\$2,750.00		Υ			
Product Code: TW-0001/ TS-0001		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ			
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT TW-0001-R/TS-0001-R01-38 Base Bid: Valve w/ Box (Gas)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,200.00	4 / each	\$4,800.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$1,300.00	4 / each	\$5,200.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-39 Base Bid: 2" Steel (Gas)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$120.00	925 / linear foot	\$111,000.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$132.00	925 / linear foot	\$122,100.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-40 Base Bid: Bore w/ Steel Casing for 2" Pipe									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$250.00	90 / linear foot	\$22,500.00		Y				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$270.00	90 / linear foot	\$24,300.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-41 Base Bid: Connection to Existing San. Swr. Manhole								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$5,000.00	1 / each	\$5,000.00		Υ			

Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		
Wynn Construction Co., Inc	First Offer - \$5,400.00	1 / each	\$5,400.00	Υ
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

OCWUT TW-0001-R/TS-0001-R01-42 Base Bid: 8" PVC SDR 35									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$140.00	441 / linear foot	\$61,740.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$150.00	441 / linear foot	\$66,150.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-43 Base Bid: 4" PVC SDR 35									
Supplier	Unit Price	e Qty/Unit Total Price Attch. D							
Rudy Construction Co.	First Offer - \$120.00	65 / linear foot	\$7,800.00		Υ				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$130.00	65 / linear foot	\$8,450.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Code:	:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-44 Base Bid: 4' ID Manhole									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Do							
Rudy Construction Co.	First Offer - \$9,000.00	3 / each	\$27,000.00		Y				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$9,600.00	3 / each	\$28,800.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R-01-45 Base Bid: Bore w/ Steel Casing for 8" Pipe									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$500.00	105 / linear foot	\$52,500.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$540.00	105 / linear foot	\$56,700.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-46 Base Bid: 2" PVC SDR 21									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$45.00	30 / linear foot	\$1,350.00		Υ				
Product Code: TW-0001/ TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$48.00	30 / linear foot	\$1,440.00		Υ				
Product Code: TW-0001/TS-0001		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-47 Base Bid: 2" Valve & Box							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

Rudy Construction Co.		First Offer - \$2,750.00	1 / each	\$2,750.00		Y	
Product Code: TW-0001/ TS-0001			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Wynn Construction Co., Inc		First Offer - \$3,000.00	1 / each	\$3,000.00		Υ	
Product Code: TW-0001/ TS-0001	W-0001/TS-0001		Supplier Product Code:				
Agency Notes:			Supplier Notes:				

OCWUT TW-0001-R/TS-0001-R01-48 Base Bid: 2" 90 degree Bend									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$165.00	1 / each	\$165.00		Υ				
Product Code: TW-0001/ TS-0001	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$180.00	1 / each	\$180.00		Y				
Product Code: TW-0001/TS-0001		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-49 Base Bid: 6" PVC C900									
Unit Price	Qty/Unit	Total Price	Attch.	Docs					
First Offer - \$170.00	748 / linear foot	\$127,160.00		Υ					
		Supplier Product Code:							
First Offer - \$170.00		\$127,160.00		Υ					
	Supplier Product Code:								
	Unit Price First Offer - \$170.00	Unit Price Qty/Unit First Offer - \$170.00 748 / linear foot Supplier Product Code: Supplier Notes: First Offer - \$170.00 748 / linear foot	Unit Price Qty/Unit Total Price First Offer - \$170.00 748 / linear foot \$127,160.00 Supplier Product Code: Supplier Notes: First Offer - \$170.00 748 / linear foot \$127,160.00 Supplier Product Code:	Unit Price Qty/Unit Total Price Attch. First Offer - \$170.00 748 / linear foot \$127,160.00 Supplier Product Code: Supplier Notes: First Offer - \$170.00 748 / linear foot \$127,160.00 Supplier Product Code:					

OCWUT TW-0001-R/TS-0001-R01-50 Base Bid: 6" 45 degree Bend										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$660.00	2 / each	\$1,320.00		Υ					
Product Code: TW-0001/ TS-0001		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Wynn Construction Co., Inc	First Offer - \$720.00	2 / each	\$1,440.00		Y					
Product Code: TW-0001/TS-0001		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

OCWUT TW-0001-R/TS-0001-R01-51 Base Bid: 6" 90 degree Bend									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,000.00	3 / each	\$3,000.00		Y				
Product Code: TW-0001/ TS-0001	t Code: TW-0001/TS-0001 Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$1,100.00	3 / each	\$3,300.00		Y				
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT TW-0001-R/TS-0001-R01-52 Base Bid: 3 Way Fire Hydrant Assembly										
Supplier	Unit Price	e Qty/Unit Total Price Attch. D								
Rudy Construction Co.	First Offer - \$15,000.00	1 / each	\$15,000.00		Υ					
Product Code: TW-0001/ TS-0001		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Wynn Construction Co., Inc	First Offer - \$16,000.00	1 / each	\$16,000.00		Υ					
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

OCWUT TW-0001-R/TS-0001-R01-53 Base Bid: 6" Tapping Sleeve and Valve								

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$8,500.00	1 / each	\$8,500.00		Y
Product Code: TW-0001/ TS-0001		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$9,000.00	1 / each	\$9,000.00		Y
Product Code: TW-0001/ TS-0001		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

OCWUT TW-0001-R/TS-0001-R01-54 Base Bi	d: 6" Backflow Preventer				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$8,000.00	1 / each	\$8,000.00		Υ
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$8,400.00	1 / each	\$8,400.00		Υ
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

OCWUT TW-0001-R/TS-0001-R01-55 Base B	id: 6 ft ID Manhole w/ 66"X3	6" Cover & Bolt on Fra	me		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$16,500.00	1 / each	\$16,500.00		Υ
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$18,000.00	1 / each	\$18,000.00		Y
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

OCWUT TW-0001-R/TS-0001-R01-56 Base Bio	d: Bore w/ Steel Casing fo	or 6" Pipe			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$410.00	97 / linear foot	\$39,770.00		Υ
Product Code: TW-0001/ TS-0001		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$450.00	97 / linear foot	\$43,650.00		Υ
Product Code: TW-0001/ TS-0001		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT TW-0001-R/TS-0001-R01-57 Base Bi	d: 6"X6"X6" Tee				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$1,650.00	2 / each	\$3,300.00		Y
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$1,800.00	2 / each	\$3,600.00		Y
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

OCWUT TW-0001-R/TS-0001-R01-58 Base Bid	l: 6"X 2" Reducer				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$900.00	1 / each	\$900.00		Υ
Product Code: TW-0001/TS-0001		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$960.00	1 / each	\$960.00		Y
Product Code: TW-0001/TS-0001		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

OCWUT TW-0001-R/TS-0001-R01-59 Base Bi	d: 6" Valve w/ Box				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$4,000.00	1 / each	\$4,000.00		Y
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$5,400.00	1 / each	\$5,400.00		Y
Product Code: TW-0001/ TS-0001		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

OCWUT TW-0001-R/TS-0001-R01-60 Base Bio	d: Trees per plan (Eastern	Red Cedar,Yearling)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$450.00	7 / each	\$3,150.00		Υ
Product Code: TW-0001/TS-0001		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$480.00	7 / each	\$3,360.00		Υ
Product Code: TW-0001/TS-0001		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

OCWUT TW-0001-R/TS-0001-R01-61 Base B	id: Sod				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$5.50	2717 / square yard	\$14,943.50		Υ
Product Code: TW-0001/ TS-0001		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$6.00	2717 / square yard	\$16,302.00		Υ
Product Code: TW-0001/ TS-0001		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT TW-0001-R/TS-0001-R01-62 Base B	id: Seed				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$1.50	3250 / square yard	\$4,875.00		Υ
Product Code: TW-0001/TS-0001		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$1.60	3250 / square yard	\$5,200.00		Υ
Product Code: TW-0001/TS-0001		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT TW-0001-R/TS-0001-R01-63 Base E	Bid: Overhaul Road w/Barrica	des & Access Gates			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wynn Construction Co., Inc	First Offer - \$190,000.00	1 / lump sum	\$190,000.00		Y
Product Code: TW-0001/TS-0001		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$200,000.00	1 / lump sum	\$200,000.00	Υ	Y
Product Code: TW-0001/TS-0001		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

Supplier Totals

f Rudy Consti	ruction Co.	\$7,059,109.50 (63/63 items)
Bid Contact	Doug Walker	Address 3101 NE 63rd Street
	kratliff@rudycc.com	Oklahoma City, OK 73121
	Ph 405-478-9900	
	Fax 405-478-9901	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS	

Agency Notes:		Supplier Notes:	Head Attch:
f Wynn Construction Co., Inc		\$7,781,613.00 (63/63 items)
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120	Address 11901 North Eastern Ave. Oklahoma City, OK 73131	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.